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Class: 11
UNIT TEST -3, NOVEMBER - 2024

me Aloweds urs;y BUSINESS MATHEMATICS :
Time Allowed : 1.30 Hours] AND STATISTICS [Max. Marks : 45

PART -1
1. Answer all the questions by choosing the correct answer from the given 4 alternatives  10x1=10
2. Write question number, correct option and corresponding answer
3. Each question carries 1 mark
1. If the demand function is said to be elastic, then

(@) gl > 1 (®) gl =1 () inal <1 (d) Ingl =0
2. For the cost function C = %e", the marginal cost is

@5 NORS (©) g™ (d) 25e5*
3. Profit P(x) is maximum when
(a) MR = MC (®)MR =0 (c)MC = AC (d)TR=AC
ou
4.fu= e",then:isequalto

(a) 2xe* (b) e () 2¢~° (@o
5. The demand function is always
(3) Increasing function  (b) Decreasing function (¢) Non-decreasing function (d) Undefined function
6. What is the amount realised on selling 8% stock of 200 shares of face value % 100 att¥s0.
(a) T 16,000 (b) X 10,000 (¢} 7,000 (d) 9,000
7. A person brought 100 shares of 9% stock of face value 2100 ata discount of 10%, then the stock purchased is
{a) 9000 (b) ¥6000 {€) 25000 (d) T 4000
8. The annual income on 500 shares of face value 100 at 15% is
(a) 7,500 (b) 5,000 (c) 28,000 (d) 8,500
9. A invested some money in 109 stock at 396, If B wants to Invest in an equally good 12% stock, he must purchase a stock
worth of
(a)x 80 (b) 1 115.20 ) t120 (d) 12540
10. Example of contingent annuity is
() Instaliments of payment for a plot of land {b) An endowment fund to give scholarships to a student
(<) Personal loan from a bank (d) All the above
PART - 11
1. Answer any 4 questions 4x2=8
2. Each question carries 2 marks .

3. Question number 16 is compulsory
11. Find the equilibrium price and equilibrium quantity for the following functions. Demand: x = 100 — 2p and supply:

x=3p-50

12.1f2 = (ax-+ b)(cy + d), then find $2and 2%

13. A person pays 64,000 per annum for 12 years at the rate of 10% per year. Find the amount of an ordinary annuity
{(1.1)" = 3.3184). A

14. What is the amount of perpetual annuity of €50 at 5% compound interest per year?
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15, i the dividend received from 10% of T 25 shares is T2000. Pind the number of shares.
16. The chairmian o 2 society wishes to award a goid medai to a student getting highest marks in Business Mathematics

and Seatistics. if thig medaf costs to T 9,000 every year and the rate of compound interest is 15%, then what amount is
o be deposited novw.

PART -1
1. Answer amy 4 questions 4x3=12
2. Bach question carries 3 marks
3. Question number 22 is compuisory

17.8 = 00527 4 16 + 2 bs the manufactarer's sverage cost function. What is the marginal cost when 50 units are
produced and mterpret your result.

18. A sanofacturer has to sapply 12,000 units of 2 product per year to his customer. The ordering cost (C,) is 1100 per
order snd carrying cost is ¥0.80 per item per month. Assuming there is no shortage cost and the replacement is
imstantanecus, determine the
(i} economic order quantity (if) time between orders (iif) number of orders per year

19. Letw = x’y’cos (7). By using Ealer's theorem show that x- 22 +y - 2 = Su

26. 4 bank pays 8% per annum mterest compounded quarterly. Find the equal deposits to be made at the end of each
quarter for 10 years to have ¥ 30,200 7 [(1.02)* = 22080}

21. i the dwidend received from 9% of 220 shares is 21,620, then find the number of shares.

22 f the production of a firm s given by P = 4LK — 17 + K,L > 0,K > 0, Prove thatL 3™ + K3- = 2P.

PART -V
1. Angwer all the questions

2. Each question carries S marks

23.2) A fiem produces x tonnes of output at 3 total cost of C(x) = —-x* — 4x* = 20x + 7. Find the
{§) average cost function ’ \
(i} average variable cost function
(]} average fixed cost function
{iv) marginal cost function and
{v) marginal average cost function.
(OR)
b} Find the stationary values and stationary points for the function: f(x) = 2x* + 9x* + 12x + 1.
ua)nwbmmhémmmmm product per every week. The dealer gets the product from
the manufacturer at 2 cost of 150 per unit The cost of ordering from the manufacturers in X 75 per order. The cost of
holding imventery is 7.5% per year of the product cost. Find (i) EOQ and (if) Total optimum cost.
(OR)

) The age of the girl is 2 years. Her father wants to get 120,00,000 when his ward becomes 22 years. He opens an
account with 2 bank at 10% rate of compound interest What amount should he deposit at the end of every month in
this recarring account? [(1.0083)**° = 6.194]. )

25. 3) Which is better investment? 7% of ¥ 100 shares at ¥ 120 (or) 8% of T 100 shares at ¥ 135.
¢ oR)

uu--n%umuﬂmmm;-gﬂ.g=a
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